
Multiply by Negative Powers of Ten (I)Find each product.
63 × 10⁻³ = 6 × 10⁻² =
36 × 10⁻³ = 42 × 10⁻³ =
70 × 10⁻² = 90 × 10⁻¹ =
43 × 10⁻¹ = 44 × 10⁻² =
17 × 10⁻² = 22 × 10⁻¹ =
5 × 10⁻¹ = 49 × 10⁻² =
77 × 10⁻² = 87 × 10⁻² =
93 × 10⁻³ = 7 × 10⁻¹ =
62 × 10⁻¹ = 18 × 10⁻² =
63 × 10⁻² = 74 × 10⁻² =
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Multiply by Negative Powers of Ten (I) AnswersFind each product.
63 × 10⁻³ = 0.063 6 × 10⁻² = 0.06
36 × 10⁻³ = 0.036 42 × 10⁻³ = 0.042
70 × 10⁻² = 0.7 90 × 10⁻¹ = 9
43 × 10⁻¹ = 4.3 44 × 10⁻² = 0.44
17 × 10⁻² = 0.17 22 × 10⁻¹ = 2.2
5 × 10⁻¹ = 0.5 49 × 10⁻² = 0.49
77 × 10⁻² = 0.77 87 × 10⁻² = 0.87
93 × 10⁻³ = 0.093 7 × 10⁻¹ = 0.7
62 × 10⁻¹ = 6.2 18 × 10⁻² = 0.18
63 × 10⁻² = 0.63 74 × 10⁻² = 0.74
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